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Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

Q. No. 6.

Q. No. 7.

COMPANY LAW

3 Hours

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Q. No. 9 carries 20 marks and the remaining questions carry

16 marks each.
3. Answer should be written either in English or Kannada

Max. Marks : 100

completely.

Explain the disadvantages of an incorporated company. Marks : 16
Focdass FoTACN STWTAONTR), DTOA
What is prospectus ? What are its contents ? Marks : 16
Towad TF 208ETe ? STT SoINW CIRYI ?
Who is a director of a company ? What are the powers and duties of a
Director in a company ? Marks : 16
F0T0D TFFesE 20TT AR ? FoTACNY, ATFETII LOTT TR
3Br=.nsh R ?
Explain name clause and registered office clause of Memorandum of
Association. Marks : 16
OITD TZT BID S IRt0TRTES DOTMTRY, WIOA.
What is a share of a company ? Explain its kinds. Marks : 16
o0 Jedd H0WTE ? WO LHNYRY  DTOA.
Explain the rules regarding declaration and payment of dividend. Marks : 16
CPOTIT FRIATOT D mzﬁé‘:oudﬁ; CTOT REDTONTT)  WTOA.
When can court order for compulsory winding up of a company ? Marks : 16
TOTRORY 3w o0TN DT 7, IRV 3NN Slalds e ini

P.T.O.
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Q. No. 8. Write short notes on any two of the following : Marks : 2x8=16
= NS cdnYmeme OTHE OO LTI WICWO

(@) Pre-incorporation contracts.

RoO3REET TPTF BTTOMLD.

(b) Preferential share capital.
8,300 eI Jehd woETY.
(c) Statutory meeting.
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Q. No. 9. Solve any two of the following problems : Marks : 2x10=20
FYNT cIRPTTT8R T DI whTOL :

(@) Acompany has been declared dividend and is not been paid within
thirty days from the date of declaration. Shareholders wants to file
a suit. Advise them.
WOTY FOTN TNTCTIR é‘::eaﬁ;d% B Peeaan LIoTOT
30 OTMTRYMN THVSATWYOY, JeATITTY FOTIAD VT T
TRELY WODTOZ]T. ©TOR O Qe

(b) One company called annual general meeting in December 1999.
This was adjourned to March 2000 and then subsequent meeting
was heldin February 2001. The company contended that a meeting
was held in 2000. Is the contention of the company is correct ?
Decide.
2OTD TOTROIL THAFT TWRT, IPJODIT) AW 1999 TY,
FCOTBT. & '13»3&'13?.1?‘ Seesfe 2000 50 L]
ectofi=tofelm Rihieva) Pw,=0 2001 Ted FEIIT. FoTAOIW
&he STFTY, 2000 S F0DY FPODW) SBAT ¢[00 HOWIT.
FOTIOD T3 woTw) ROOE 7 SCTHFRA.

(c) ‘A', 'B'and ‘C’ are the members of a company and holding all the
shares of that company. They transferred their all shares to ‘X’, 'Y’
and ‘Z'. Whether the company having the same entity ? Decide.
‘D', ‘W R A Q0TI 2,000 FoTACH ATH TN W &

) b «Q —-

OTROD AT, FeWNFR) TRoDTTIT. B[ T 2w, Jedond
X', Y BB Z' Q0W0TTON THCTOWTT. ) FoTIKN
BATIZY TROQTOZTOIE ? SEIRF A
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